1. ¥B4
W4 AN 6 AR L L) | AR S i s
AT T fe] (L] )1 5 T A
2. EBNE
1) FHEFEA SR 64 4H 7) LI fi] 1 11 Ik
2) HHEHT4 R LR 55T B 8) # X X
3) KEBES 24874052020001 9) I - B
4) XSy HARE (Ml L 2&1) OnEs 10) #atEHA ST 54E1LH
5) ZHEEK 11) HBLH—EH 0%
6) JEITHIM 365 H[# H &Ff 64 44 1H 1 2) HALEHEHA S 64 2H
(447)  4f 74 3H31H 1 3) HHhEHFH S 64 2H
(% mZEE) £ £ A A 14) niiEAEBR M
15) R M
BGE EHNE
3. TERHA
1) THEHE 2) H 3) HOMGy 4) FEA

r [ R il R



At YRR E

EHL | A0 6 R L) BRSBTS E T IR EGE
H H FERE
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B
FEE AN
= 1 4,188, 440
FEBE AT

= 1 4,188, 440

et - BIHFRA
= 1 476, 080

T N 1 =
= 1 112, 880

B A B 1 5
=] 8 45, 400 363, 200

TS i

= 1 3,712, 360

BHORAR T3 kR ) |ER B 2 5

[f&iE]

T 3 485, 920 1, 457, 760
KRR GRIHAZKRM)  [EfRE] I B 3 5
e 2 438,120 876, 240
-1 [E 73 PEHTE R



At YRR E

EHL | A0 6 R L) BRSBTS E T IR EGE
H H FERE
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B

AKMEAE CMEAKRM) [ERE] I B 4 5
T 1 406, 120 406, 120

W (WIHEAKM) [EkE] E¥)| H 5 5
e 1 534, 120 534, 120

W (IEAKM) [EkE] W H 6 &
e 1 438,120 438, 120

Tad
= 1 512, 600
Te+%
= 1 512, 600
TAEE

= 1 512, 600

EHRRGTHEICBET 5TAE W 2 5
= 1 71, 000

THEREOTAY W 3 5
= 1 441, 600

-2 - [E 73 PEHTE R



At YRR E

EHL | A0 6 R L) BRSBTS E T IR EGE
H H [EREZ Y
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B

R

= 1 29, 616
[R5
= 1 29, 616
ik AL I
= 1 29, 616
i aZmt (i E) N 4 =

= 1 29, 616

EREF A (Z OB )
= 1 4,730, 656

& OAth A
= 1 2,531, 510

— RS EL
= 1 3,907, 834

SEVS A
= 1 11, 170, 000

-3 - [E 73 PEHTE R



XA PR
X g B\ =
EHL | A0 6 R L) BRSBTS E T IR EGE
H H THE B 4 %8
HH - TR - FHI - 5] g BANL e B o] B2t SRRV e
THE B %0
= 1,117,000
EGZCR
= 12, 287, 000
— 4 —

Etszmes T EIT R



N = i Al 4F A 2024. 02
1 /j 5( W :R SEEEN 2024, 02
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
1 & T
THH LT - Bk A HAL Y HAT SHA T 2
T H 5 =
= 1 112, 880
112, 880
= i HA {45 H 2024. 02
1 yj 5? W :R SRR 202402
B = T AR 1. 000-0000-0000-0000-0000-1-0 0
2 5 G ARSI 2T A
THH LT - Bk A HAL Y HAT 4KA T 2
EGERHEEICHET ITEE GETR) Ho13E
[ 1 43, 400 43, 400
EGERHEEICHET ITEE EBE TR B4 B
[ 1 27, 600 27, 600
71, 000

Etszmes T EIT R



= i HAAh 3 FH A A 2024. 02
= R SEMEAAE] | 202402
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
THEEOAY
LW - Bk Ay HA R it Sk
THEOF &Y B 15 &
55, 200 441, 600
441, 600
= i Al 4F A 2024. 02
= A AR A 2024. 02
= SETRAEE | 1. 000-0000-0000-0000-0000-1-0 0
& kg mE (i L)
LW - Bk Ay HA R it Sk
REwmE (i) M 6 &
29, 616
29, 616

Etszmes T EIT R



N N 2 Al 4F A 2024. 02
/5( ’f ﬂﬁ 2% s A A 2024. 02
T AR 1. 000-0000-0000-0000-0000-1-0 0
H 15 LR B
HAAL 7] S HiAlh
1 45, 400
THH LT - Bk A HAL Y HAT 4KA T 2
LR B 7=
[ 45, 400 45, 400
45, 400
B
45,400 |/ ,[A]
N NAWA Al 4F A 2024. 02
ﬁ( E‘ ’f ﬂﬂ il% s A A 2024. 02
T AR 1. 000-0000-0000-0000-0000-1-0 0
H 2 5 Lk v 7l (kR ) AL o §
[f&iE] HAAT T B B
1 485, 920
THH LT - Bk 1 HAL Y HAT 4KA T 2
BHEARR o T (KR ) B 8 &
[f&hE] 225
I 485, 920 485, 920
485, 920
B
485,920 |,/ L%

Etszmes T EIT R




N N 2 Al 4F A 2024. 02
1 / 5( @ ’f ﬂﬁ 2% s A A 2024. 02
T AR 1. 000-0000-0000-0000-0000-1-0 0

H 35 AKPHEGE GRDIEAK) [EkE] AL o -
HAAL T S HiAlh
1 438, 120
THH LT - Bk A HAL Y HAT AKR T 2
KPR (RIAAKM) HEkEIAE H 9 &
I 1 438,120 438, 120
438, 120
B

438,120 |M /T
N NAWA Al 4F A 2024. 02
1 /j 5? E‘ ’f ﬂﬂ iI% A FHAE A 2024. 02

T AR 1. 000-0000-0000-0000-0000-1-0 0
H 4 KPR (BT [EkE] AL o .
BALL T & B
1 406, 120
THH LT - Bk A HAL Y HAT AKR T 2
AKPHEGE (NEAKR) [EREIZE R B0 &
I 1 406, 120 406, 120
406, 120
B
406,120 |,/ L%

9= Etszmes T EIT R




N\Ys Al 4F A 2024. 02
ﬁﬁ 2% SEHRAEN | 2024 02
T AR 1. 000-0000-0000-0000-0000-1-0 0
H 5 WAt (A HAM)  [EkE] o N N
HAAL T S HiAlh
1 534, 120
THH HAL Y HAT SHA T 2
W (WIHAKM) HERE] S0 WMol B
I 1 534, 120 534, 120
534, 120
B

534,120 |M/T%
NAWe Al 4F A 2024. 02
== ﬁﬂ 2% SEGERE | 2024 02

T AR 1. 000-0000-0000-0000-0000-1-0 0
H 6 = WAt (A HAM)  [EkE] e . Ny
BALL T & B
1 438, 120
THH HAL Y HAT SHA T 2
W (WIHAKM) HERE] AT W12 B
I 1 438,120 438, 120
438, 120
B

438,120 |M/ L=

Etszmes T EIT R




